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Homework 7.2 — Trigonometric Integrals

Evaluate the following integrals without referring to tables or formulas. (LT 1c)
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Worksheet 7.3a — Trigonometric Substitution

Evaluate the following integrals without referring to tables or formulas. (LT: 1f)
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Worksheet 7.3b — Trigonometric Substitution

2 = (_‘1
1) Evaluate | _dx. (LT:1f) x= twmo dhx=e 645 M\ oo
2 15 71
oo ) ten’0 __ (sec0) 46 £ " Wy
- M = 28 [ 59(.@
(x*+1)" (f“"& X
5 tar0 sec O §11074he ™
z 3l
(56,.‘: &)
‘S\ SQ’C’(?
sectO! !
LS secf?

= S@ec&“ 605‘9)&{(9
ﬁﬂl‘cmc;“secﬁ‘" s:’n@fc,

M’X*Wl xf!

o |3 4750 |- 7y +C

2) Find the average height of a point on the semicircle, y =+/4 - x* , for -2 < x <2. Remember,

the average value of a function, f(x), betweenx=aandx=bis f,, =ﬁjbf(x)dx .
_a a

Also, be clever (by sketching the curve) about how you evaluate the integral in this case.
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3) A charged wire creates an electric field at a point P located at a distance D from the wire.
The component E | of the field perpendicular to the wire (in N/C) is

E, =jx2ﬂdx
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Where A is the charge density (in C/m), k=8.99x10° N -m?/C? and x, and x,are as in
the figure. Suppose that 1=6x10"*C/m, and D =3m. Find E if x,=-15m and x, =15m.

(Use symbols until the very end. Then you may use a calculator.) (LT: 1f)
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